     UNIT 2B     

       Mirror Primes


   56 and 65 are mirror numbers and so are 245 and 542.


If a number and its mirror number are both prime then we call it a mirror prime.


Since 13 and 31 are both prime numbers, they are both mirror primes.


29 is a prime number, but 92 is not. Therefore 29 is not a mirror prime.

1. Which of the following are mirror primes? 11, 17, 19, 23.

        a)  Use the ISPRIME?  indicator from your calculator to help you decide which numbers are mirror primes. 
           CAS          MATH                INTEGER               ISPRIME?      
             ( A 1 displayed indicates the number is a prime number.)
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2. Find all the mirror primes up to 100. How many are there?

3. What is the smallest 3-digit mirror prime? What is the biggest?

4. The ERDOS  VALUE of a number is the number of prime numbers between a number and  twice this number. Follow the example below.

       Let EV (n) = p   where p  stands for the number of primes between n and 2n.
     For example  EV(10) = 4   This is saying the ERDOS VALUE of 10 is 4 because       
there are 4 primes between 10 and 20.

a) List the four primes between 10 and 20  

b) Find EV(15) 

c) Find EV (17) 

d) Find EV (n) if  EV (n) = 3      if n 
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 10 ( n is less than or equal to 10)

e) Find EV (n) if  EV (n) = 3      if10 
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 15   Is there more than one answer ?

f) Find EV (n) if  EV (n) = 5       and n is as small as possible.

g) Find the least positive integer n such that EV (n ) = 10
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